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commandwindow
clear

clc

close all

syms m(t)
m2 = 0.025*m
nl =

50* (1 + sin(t))

m = dsolve(diff(m, t)== ml - m2, m(0)==150)

step_hour = 0.5/60
t = O:step hour:7.5
m values =

1% u subs (m, t*60)

I



7.1000

Columns 865

7.2000

Columns 877

Columns 853 through

7.1083

through

S

m values

ZFlgulel
File  Edit View Insert Tools

BETEY

Desktop  Window Help

hRKo®eL ana/eg

2500 B

Amount of salt(lb)

W

time(hours)

7.1750  7.1833  7.1917

7.2833

7.2917

7.3833 7.3917

7.4750 7.4833 7.4917




nge kutta l.mbx X | bangodefunm X | veeassim X Vbeass2m

commandwindow
clear

clc

close all
t=1:2:500;
tm=0:2:500;
T=[t,tm]:
yn=((S0/0.05)+((50/1.0025)*sin(t))+(((50*0.05/1.0025 ‘cos(t))-(802.49%%exp (-0.05%t))))
ym=( (1000) - (B00*exp (-0.05%tm)))

Y=[yn, ym] ;

ploc (T, Y, 'green’)

grid orn

grid mi:

xlabel ('V icre) ')

ylabel (‘T (Min) ')

headingl=('ct (m: A

heading2=('v (11 L) T
xlswrite (' b

xlswrite ('

xlswrice(' ¢ k X
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New to MATLAB? See resources for Getting Stagted..
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Columns 209 through 221 4| Figure 1 N - o X [
File Edt View Insert Hlools Desktop Window Help >
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Columns 222 through 234 . YU BTSRRI E SR 5 5 s TIAB T s :
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1.0000 1.0000  1.000 o i )
et B bibiadii kg dd) i
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Columns 235 through 247 1000 ARt HLELT Tl LG
1.0000 1 1.0001 900 i 1 i
Columns 2 251 800'1 1
1.0000 1.0000 1 = 700} 1
£
= 600 i
headingl =
500

heading2 =
‘v{litre)"

1% >>

350 400 450 500

1.0000

1.0000
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1.0000
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Columns 209 through 221

1.0000 1.0000 1.0000 1.0000
Columns 222 through 234

1.0000 1.0000 1.0000 1.0000
Columns 235 through 247

1.0000 1
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